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HARD WORK IS THE FIRST STEP OF SHIVALIK TEAM

Covered Topic:-

Physics:- Motion in one Dimension : Introduction,Position, Distance and Dis %
, Speed, Velocity,Acceleration, Equati on
Chemistry:- Some Basic Concept of Chemistry :

Matter and it’s classification , The international system of &S..)
Prefixes used with units,mass,weight, Temperature,Sc icNotation
Precision,Accuracy ,Significant Figures, law of ¢ of mass

Law of definite proportions,law of multiple prop daw of gaseous
Berzelius Hypothesis,Avogadro’s Hypothesi

Mathematics :- Basic Mathematics :  Exponent,Logr

Date:- :- 13 septe@
Pari€ | ICS)

roportion ,polynomal

Maximum Marks :- 240 Time :- 70 Minutes

1. The acceleration of a moving C 1. Wil fUve &1 @R Sird fhar S bl
be found from :- b\
aph
raph

(1) Area under velocity — lithe

(2) Area under distanc &

(3) Slope of the vel |%e graph

(4) Slope of dist e graph

. A particle maves a semi circle of

radius 5 %econd. The average
' N ticle is :-

=~ ()4 (427

g -

(1)1 — 99 % & 919 H eFhe |
(2) X — T % B 9 H HFHA |
(3) o1 — T U® & T |

(4) X — 97 % B A H

. U% $HY 5 HIex B0 & Egd d 5 Havs
H gAAT & HUT BT A 9T BN i-
(H2n> (Q4n— Q4- @27

uah Work
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. The numerical ratio of displacement to
the distance covered is always.

(1) Less than one

(2) Equal to one

(3) Equal to or less than one

(4) Equal to or greater than one

. A man goes 6m towards north, then 8 m
towards east then displacement is :-

(1) 24m (2) 10m

(3) 14m (4) 30m

. The ratio of the numerical values of the
average speed and average velocity of a
body is always :-

(1) Unity (2) Unity or less
(3) Less than unity  (4) Unity or more

. A particle is constrained to move on a

starting point after 10 second. The teta
distance covered by the particle

this time is 50m. Which of the follgwing
statements about the ioR, of Mhe

particle is false :-

(1) Average speed %p rticle is
5m/s.

(2) Displace n% article is 50m.
(3) Displa % e particle is zero

@ H fwE g HT 10 dhvs
straight line path. It returns to the% IRfE g W A die oer &
I

3. T fFy W fReUA Ud O & S1UIT Bl
3fifhes AT B BT © -
(1) v 4| %A
(2) v
(3) U&h & RI&R AT T&H A HH
(4) U & RIR AT T A
. U Ffdd 6 HIeY IR 8
Alex @ @1 3R SINE]
BT -
(1) 24m (2 1%m (4) 30m
: T AT AT 9T
D 9 | P 31T Had -

(1) ) U & RIER AT U A BA
%ﬁq (4) TF & R A1 TF A

i BT gRT 39 99T H del 50 HeR &I
R T BT TS B dd BU DI A B folQ
DHITAT BT A BRI -

(1) o1 & AT AT 5 Hiex /DTS
(2) B &7 faRemUe 50 Hiex &

(3) Fo1 BT favenu= I ®

(4) 1 T2 3 T

uah Work
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7. A train has a speed of 60 km/hr for the
first half hour and 40 km/hr for the next
half hour. It’s average speed in km/hr.
(1) 50 km/hr (2) 53.33 km/hr
(3) 48 km/hr (4) 70 km/hr\

. An athelete completes one round of
circular track of radius R in 20 second.
What will be his displacement at the end
of 2 minute 20 second.

1o (2)2R (3)2nR (4) 7aR

A car travels the first half of a distance

between two places at a speed of 20

km/hr and the second half of the

distance at 30 km/hr. The average speed
of the car for the whole journey.

(1) 25 km/hr (2) 24 km/hr

(3) 50 km/hr (4) 30 km/hr

9.

application of brakes after

distance of Sm. It’s accele 's -

(1) 10 m/s?
(3) 20 m/s?

11.A body is movi &( ocity of 10
m/s. If the metio Iform what will

seconds ?
100 m/s
4) 50 m/s

be the vel
(1) 10

D

10.A motor car moving with a uniferm
speed of 10 m/s comes to stop

7. UU¥ MY ©S ddb fHAl o9 @ At 60
fopeY. /eieT dem 3FTel MY ©e b 40 fHH.
/¥er & 7| arel amEr # ogd @) fa,
/€8¢ # 3iNAa =arer BT -
(2) 50 km/hr
(3) 48 km/hr
8. 1 Rl R B @ X U9
Ul Fah] 20 HHvE H
20 HHUS TTATT
e
(3) 2nR %
9. T BR B v el g
ﬁ—%ﬁmﬁwﬁmaﬁrfgﬁ
3 IId F TI BT ® al
% foIT HR 31 i d a1t -
()85 km/hr
(2) 24 km/hr
) 50 km/hr
(4) 30 km/hr
10.10 #. /9. & TP AN T F THE Th
PR Fb T R 5 Alex W FaAdx faRM
H T I & | @R T -
(1) 10 m/s® (2) -10 m/s?
(3) 20 m/s® (4) -20 m/s?
11.76 &1 10 H./9. & 97 | Tl g,
afg 7T Uh F9E @ 10 dHve b 9
HOT BT T BN i~
(1) 10 m/s (2) 100 m/s
(3) 5 mis (4) 50 m/s
uah Work
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12.From rest, a car accelerated at 8 m/s” for
10 seconds. What will be the velocity
after 10 seconds ?
(1) 50 m/s (2) 40 m/s

(3) 80 m/s (4) 100 m/s
13.A particle is moving in a circle of

diameter 2m, then what would be the
distance and displacement when it
completes 2 revolutions ?
(1) 4n, 2w (2) 2m, O
(3)4m, 0 (4)0,2n
14.A car travels along a straight road 50m
east then 30m west. What will be the
distance and displacement of the car ?
(1) 80m, -30m (2) 50m, -20m
(3) 80m, 50m (4) 80m, -20m

%3 m, -30m
15.A car travels with speed 30km/hr for 3 80m, 50m
.
e

minutes and then with speed 40 km/h
for 30 minutes. Then what woulde«pe

distance covered by the car ? \
(1) 70 km (2) 35k \

m
(3) 50 km (4) 25 x
16.A cyclist covers a ditange of 50m in 5

second. Then wha e speed of

12.fRM srawem ¥ TS HR 8 mis® F 10
ddpve & forg @Rd g8 2 dl 10 APbvs a1
PR BT I RIT 8 ?

(1) 50 m/s (2) 40 m/s
(3) 80 m/s

(4)100m/s§
13.T% BT 2 WWHE@@ g
2

T9 98 2 FFhR T
g I &1 419 .
(1) 4z, 2n \
(3)47[,0% ) 21

) 50 Hiex gd H deuwErd

H gdT ® A BR gRI aU
favermu= &1 719 R ¥ 7
(2) 50m, -20m
(4) 80m, -20m
o 30 fiFe § &R @1 At 30 AL /Her
TIT 3Tl 30 fA9ie & 40 foAl. /Her &
g Al PR gRT T BT TS g &1 A BATT
(1) 70 km (2) 35 km
(3) 50 km (4) 25 km
16.t% Agfhd GIR 5 HAdhvs H 50 Hiex Pl
W T FRal § A fEHL/EC | Asfea
AR &Y AT BT A RIT BT ?
(1) 18km/hr (2) 50 km/hr
(3) 10 km/hr  (4) 36 km/hr

Rouah Work
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17.With an initial velocity of 18km/hr, a
car accelerated at 8m/s? for 10 seconds.
What will be the position of the car after
10 seconds ?

(1) 450 m (2) 500 m
(3)455.5m (4) 400 m

18.The unit of acceleration is :-

(1) Meter (m)  (2) meter/second (m/s)

(3) meter / (second)? ( :‘—2 )

(4) meter x second (m X S)

19.Which of the following statement is
incorrect ?
(1) The unit of distance is metre.
(2) Displacement is a scalar quantity.
(3) The unit of displacement is metre.
(4) Speed is a scalar quantity.

20.Which among the following statement is
correct ?

(1) The unit of velocity is metre. \&
(2) Acceleration is a scalar qu 'b\
(3) Distance is a scalar \&;/‘
(4) Velocity is a scalg ti

17.18 9. /8T & URMIH 9T & AT TH
PR 10 JHvs b forg 8 Hiex / @advs) |
IR 8l & a1 10 Adhvs & dC HR P
Rerfdr qm 8 ?

(1) 450 m (2) 500 m
(3)4555m  (4)400 m
18. <R &1 H15dh & i—

1) #ex (M) (2)
(3) Hex / (Hipvs)’

H W P B I © -
(1) T BT HHH Hiex 2 |
(2) @=vT U arfesr Al 7|
(3) 0 usp arfewr fy 2 |
(4) 90 vs e R B |

Q Rouah Work
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Part — 11 (CHEMISTRY)

21.0ne day is equal to :-

(1) 24 x 60 x 60s (2) 24 x 60s

(3) 24 x 50 x 60s (4) 24 x 100 x 60s
22.The unit of lumineous intensity is :-

(1) mole (2) kg

(3) candela (4) ampere
23.How many significant figures are in

0.0005 ?

1)1 (2) 2 (3) 3 4) 4
24.The number of significant figures in

1.0001 are.

1)1 (2) 2 (3) 4 4)5
25.Add (0.001 + 0.02) upto correct number

of significant figures.

(1) 0.021 (2) 0.02

(3) 0.003 (4) 0.001

1)1 (2) 1.0

(3) 1.00 (4) 1.0 «g
27.Round off 0.1525 u e Signtficant
figures :- %
(1) 0.153 %
(

(3)0.16 0.15
28.Round upto one digit after

2
n&s (2) 1.0x 10"

(4) 1.6

21.v% foq # BT € :-

(1) 24 x 60 x60s  (2) 24 x 60s

(3) 24 x50 x 60s  (4) 24 x 100%x 60s
22 .51fq SigdT b1 719 @ -

(1) mole (2) kg

(3) candela  (4) aﬂﬁ\g

23.0.0005 # wrefe o N
M1 @

24.1.0001

(1)
25.

1)
% ) 0.003

(3) 4 (4)5
) B UG ArRid D dh

(2) 0.02
(4) 0.001

26.The mUItlple 5 x 0.2 after round@ZG_W B e 5 x 0.2 or TG A SNTT
will be :- :

1)1 (2) 1.0
(3)1.00 (4)1.000
27.0.1525 @1 <9\ el db afided
DI -
(1) 0.153 (2) 0.152
(3)0.16 (4) 0.15
28.0.1576 &1 T¥MHed & d€ Udh b dd
Afded BIRT |
(1) 0.1 (2) 1.0x 10"
(3)0.2 (4)1.6

Rouah Work

SHIVALIK SCHOOL, BHARTHARI ROAD, BEHROR MOB- 01494 — 294297, 9784067297, 9602684259 www.shivalikschool.co.in

Page 7




5.86 x 3.96

29.The value of YT will be equal to :-

(1) 8 (2) 8.1
(3) 8.11 (4) 8.113
30.The law of conservation of mass is valid
for all the following except.
(1) All chemical reactions
(2) Nuclear reactions
(3) Endothermic reactions

(4) Exothermic reaction
31.Cu forms two oxides cuprous and cupric

oxides, which law can be proved by the
weight of Cuand O ?

(1) Constant compositions

(2) Multiple proportions

(3) Reciprocal proportions

(4) Definite proportions

32.Gay Lussac’s law is not valid in the%

chemical reaction.

(1) Hz(g) + Clx(g) > 2Hcl(g)

(2) 3H2(g) + N2(g) = 2Nhs(g

(3) 2S02(9) + Oa(g) > 254(9)

(4) CaCos(s) D, CaofS) +
33.Carbon and oxygen feact 1 ratio of 3 : 8

by mass to for . at weight of

carbon should sed to react

completelyywi gm of oxygen ?

(1) 10 (2 (3)129 (4)7g

N\

5.86 x 3.96

29. BT HIF BT -

2.86
(1) 8 (2) 8.1
(3) 8.11 (4) 8.113
30. 5 EReTT BT e fods
@ forg w1 Brem ®
(1) =t st s
(2) fara 3.
(3) eATEIT a7
(4) Swrerdy arf.
31.Cu T sffass
g g1 C

(1) Hz(g) + Cly(g) = 2Hcl(g)

(2) 3H(g) + N2(g) = 2Nh3(g)

(3) 2S0,(9) + O2(g) > 2S05(9)

(4) CaCos(s) DB, Cao(s) + Co(9)

33. 16 3R 3ifRio 3 : 8 & SIAM IgUd
# far axa CO, T@d €1 32 gm
Ao @& T qof w9 A fhar A &

o @1 @1 fha IR wgad BF1 Ay
?

(1)10g (2)159 (3)12g (4)7g

Rouah Work

R
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34.When 200g of lime stone is strongly
heated it undergoes thermal
decomposition to form 112g of lime and
unknown mass of carbon dioxide gas as
CaCo; =
200g 1129 ?
(1)88g (2)24g (3) 649 (4) 409
35.Element x forms five stable oxides with
oxygen of formula X,0, X0, X503, X0y,
X»,05. The formation of these oxides
explains.
(1) Law of definite proportions
(2) Law of partial pressures
(3) Law of multiple proportions
(4) Law oof reciprocal proportions

Cao + Co,

36.0.00186 is written in three significan
figures with scientific notation as :-

(1) 1.86 x 107 (2) 186.0

(3) 18.6 x 10™ (4) 1.8

law of :-
(1) Conservation o
(2) Definite propoxft

S

X «

x‘%

37.28g of N, and 6g of H, reagt t0\give84g
of NHs;. This stateme &W es the

34,59 200g T YRR BT oSl T AT @ 3
@ 59T 9 UpR adT Uged g SIrd]

g g 1129 71 3R B ST eSS
T P 3T AT U B © -

CaCo; > Cao+Co
112g 7

(2) 24g Q

. y

(1) 88g
(3) 649
35.d@ X ifRioe &
SEIIRARNECaP

200g
4)

4) HcpH

00186 &1 dsnfHe Homad & AT o

afe # R bR forar 51 Fahdr © -

(1) 1.86 x 10° (2) 186.0 x 10

(3) 18.6 x 10 (4) 1.860 x 10°3
37.28g N, aiR 6g H, @1 fmm w 34g NH,

g Bl ® U8 HoF o | &1 genian

=

(1) segH Evero
(2) Rer argurd
(3) Tforer srgor
(4) =gcTsp sTuTd
uah Work
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38.The number of significant figures in
2.653 x 10" is :-
Q)8 (2) 4 (3)6 41
39.Given the numbers 161 cm, 0.161 cm,
0.0161 cm. The number of significant
figures for the three numbers is :-
(1) 3,3,4 (2)3,4,4
(3)3,4,5 4)3,3,3
40.Which of the following statements is/are
true ?
(1) An element of a substance contains
only
(2) A compound can be decomposed
into its components
(3) AIll homogeneous mixtures are
called as solutions.
(4) All of these

38.2.653 x 10" & wmefe ofcpi @5 =T & -
18 (24 ()6 41
39.ww=mi 161 cm, 0.161 cm, 0.0161 cm <1
T 2| N et & fory areie sfdt @

TIT HUT: © —

(1)3,3,4 (2) 3, %

(3)3,4,5 (4) Q
40.f7 ¥ ¥ BT B %

(1) a3 9 uerd ® ' THR

URATY] B & |

Rouah Work
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Part — 111 (Mathematics)

41.Value of x, if (81) % + (729)°~* = 9% is
(1) -2 (2) -7
(3)-14 (4) None of these
42 Valueof m in2" 3=1is:-
(1) 0 (2)3
(3) 2 (4) None of these
43.Value of (V4 ) *is :-
W4 Q% @8 (@,
441fA:B:C=2:3:4,then A/B:B/C:
C/A equal to :-
(1)7:8:24 (2)8:9:24
(3)6:7:24 (4)2:8:24
45.1F 4x — 3% %= 3" _ 221 then x equal

3

fo :-
M @1 ©@; @ 'Q\

46.Ifx:§yandy=%Z, then x %
1)1:2:6 X
3)1:2:3

ATAfA:B=3:4,
=8:9thenA:
(1)3:7
(3)10:

41.x &1 9 8w, afy (81) ¢ + (729)° X
9% .-
(1) -2 (2)-7
(3)-14 (4) Non
42.mer | 2" 3 = 1% g

Y QO
(3)2 &\w
43.(V4) @1 W= '-}

of these
: C:
24

() 3

ese

(1) 4
443 A

1
)8 (9
3:4, a9 AIB : B/IC

(2)8:9:24
4)2:8:24
- 271 g9 X /R

@1  ©@; @-3

11:2:6 (2)1:3:6
31:2:3 43:2:1
A7TaR A:B=3:4,B:C=5:738RC:

D=8:9as A:D=
Q)3:7 27:3
(3)10:21 (4)21:10

Rouah Work
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48.Mean proportion of 6 and 54 is :-

(1) 9 (2) 12 (3) 16 (4) 18
49.Which of the following is not a rational

number ?

MN @Z2 ©B)Qr  (4Qir
50.Base of natural logarithmis :-

(1)10 (2)e (3) a 4)2
51.The degree of the polynomial x*—x* +

2 1S :-

(1) 2 21 (3)0 (4) 4
52.The factors of 3m?+9m+ 6 are :-

(1) (m+1)(m+2)

(2)3(m+1) (m+2)

(3)6(m+1) (m+2)

(4)9(m+1) (m+2)
53.The value of IS

log360 log,60 logs60

(1)0 21 (3)5 (4) 60
54.1f logyy = 100 and log,x = 10, th

valueofyis:
(1) 210 (2) 2100 (3) 21000 %

IS gqu
(1)0 (2) 12 % (4) 512
56.1f log,(ab) = X, t% )is :-
(2)

55.1f [logs (logxx)] = 1, th
1
(1) ; x+1

(3) = )

1 1

48.6 T 54 T FATIURN B :-
1)9 ()12 (316 (4)18
49.fr/= # 9 H uRAg e E § —
(DN 2z
() Qr (4) Qir

(1) 10
51.9gue x*
(1)2
3)0

(2) e (3) a

NG +2ﬁ
52.3m? + 9m

(QZ) 1%
(1) (g |
2) m + 2)
%l) (m+2)
1) (m + 2)
60 10g460 10g560 HTATE -
o0 21 )5 (4)60

54 afg logyy = 100 &R log,x = 10, @9 y @1
AM T -
(1) 210 (2) 2100 (3) 21000 (4) 210000
55.af% log, [logs (logyx)] = 1, @9 X RTeR &

10
56.af% log,(ab) = x, @@ logy(ab) & :-

()12 (3)128 (4)512

(1)
3) =

2=

x+1

4) =

Rouah Work

R
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57.1f log 2+ log =
()a+tb=1
(3)a=b (4) a° -
58.2l0g105 + 109108 - % l0g104 =
(1) 2 (2)4
(3) 2-2logy02
59.1f logy2 = a and

2a+b

1+a
2a+b

1-a

(4)
1

log (a + b) , then :-
(2)a-b=1

(4) 4 — 4|0g102
logie3 = b, then

b*=1

"(logabo)+ 1
equal to :-

W1 @3

(logpca)+ 1

(3) 2

(logcab)+ 1 1S

(4)3

Rou

N

y 4

57.af log % + log 2
la+b=1 (2)a-b=1
(3)a=b 4a’-b* =1

58.2l0g,05 + 109108 % 00104 = ...t
(1) 2 (2)4

(3)2-2logie2 (4)4
59.3f% l0g;02 = a &R Io@ g logs12
2a+b

1-a

log (a + b), 79 :-

a+b
(1)1+a
(3)a+2b

1+a
1

(logpca)+1

1
(logcab)+ 1

() e

ah Work

\v

@2 (43
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